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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Qa&HSNSAH N (R, %,5,1,5)
11,000,000,000& 11,000,000
Stuga MEd sEAE A d HA 50,000 50,000 0
301 gt d= 50,000 50,000 0
1MIIEBESS 50,000 50,000 0
OsJtetd g AN==2 X3
250,000& = 200A 50,000
SOHAIE o1 d 6,860 0 6,860
SSTHAIE AMESHEALY 6,860 0 6,860
201 Let24d] 6,860 0 6,860
01 At 2teltl 6,860 0 6,860
Os=dEZHAIE AIEHHSIALYE =& 6,860
OANEBUEAIY FEARE AFE
15,0002 * 204 300
OANEBUEAIY FAARE 32T H A
15,000& = 43| = 209H 1,200
O8 =9 W 70,000& * 83l 560
Oogziezg 21x 1,200,000 * 400 2 4,800
TES USHEXA 22,757,411 21,892,761 864,650
< 9,102,964
Al 13,654,447
=S wusMHE A 22,757,411 21,892,761 864,650
= 9,102,964
Al 13,654,447
St AR 22,757,411 21,892,761 864,650
< 9,102,964
Al 13,654,447
308 XX EHH SOl A 22,757,411 21,892,761 864,650
< 9,102,964
Al 13,654,447
08 uFJ20UetE=x 22,757,411 21,892,761 864,650
0%,5, 5480 224 Xg
22,757,411,000& 22,757,411
< 9,102,964
Al 13,654,447
HYR2IZH (RS 82,116 41,712 40,404
JlEZl 82,116 41,712 40,404
JlE2&l 82,116 41,712 40,404
201 Let24E] 29,496 18,072 11,424
01 At 22l 29,496 18,072 11,424
OJl=ge=das3H (JIE34l)
500,000& =« 189H 9,000
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8,000& = 22 * 8Y » 123 16,896
odes)l 9z 50,000& * 2004 * 128 1,200
OZ2J18&J| dx=z
100,000& » 204 « 12& 2,400
202 044l 40,320 19,440 20,880
01 SLHOIYI 40,320 19,440 20,880
O=2UWAHHI(JIEZHl)
20,000& = 218 * 8 * 123 40,320
203 YR =2l 4,200 4,200 0
04 FN2ELSZ=TH| 4,200 4,200 0
©J| & X (2521016t) 350,000& = 123 4,200
405 XtatE SHI 8,100 0 8,100
01 THatH ESFH S 8,100 0 8,100
OF=E~pJ 300,000& =« 2CH 600
O&ZE7I 70,000 * 10CH 700
OFMAIEDI 1,000,000& * 1CH 1,000
OATHETOHAIZE HREALEXA)
800,000& =« 10H 800
OHEI (ZOHAIE 3l al)
3,000,000& = 1CH 3,000
OHHLI(ZHAIEY SoI2HIFAEY)
2,000,000& = 1CH 2,000




